

$$a_1 a_2 a_3 a_4 = 2^4 \quad a_1^2 a_2 a_3 = 2^4 \quad a_1 a_2 a_3^2 = 2^4 \quad a_1 a_2^2 a_3 = 2^4$$

$$\frac{a_1(a_2^2 - 1)}{a_1 - 1} = 21 \quad (a_2 - 1)(a_2^2 + a_2 + 1) = 21$$

$$a_2(a_1^2 + a_1 + 1) = 21$$

$$2a_2^2 + 2a_2 + 2 = 21$$

$$2a_2^2 - 17a_2 + 2 = 0$$

$$\Delta = 17^2 - 4 \cdot 2 \cdot 2 = 245$$

$$\frac{-b \pm \sqrt{\Delta}}{2a} = \frac{-17 \pm 1\omega}{4}$$

$$\frac{17 \pm 1\omega}{4} = 2^4$$

$$(x^2 + 1)(x^2 - 1) = 2x^2$$

$$x^4 + 1 - x^2 - 1 = 2x^2$$

$$x^4 - x^2 - 2 = 0$$

$$x^2 = 2$$

$$x = \pm \sqrt{2}$$

$$\Delta = b^2 - 4ac = 1^2 - 4(1)(-2) = 9$$

$$x = \frac{-1 \pm 3}{2} = 1, -2$$

$$(1 + q + q^2 + q^3 + q^4 = \frac{121}{2})$$

$$2 \cdot 121 + 2 \cdot 121q + 2 \cdot 121q^2 + 2 \cdot 121q^3 + 2 \cdot 121q^4 = 121 \cdot 10$$

$$\frac{b-a}{n-1} = \frac{2^4 - 1}{4} = \frac{2^4}{4} = 10, 1\omega$$

$$1 + 10, 1\omega = 11, 1\omega$$

$$-2 \cdot 10, 1\omega = -20, 1\omega$$

$$121q^4 = 1$$

$$q^4 = \frac{1}{121} \quad (q = \frac{1}{11})$$

$-Nd \quad -Fd \quad -Vd$ $a_1 + r^d, a_1 + r^d, a_1 + Nd$ $(a_1 + r^d)(a_1 + Nd) = (a_1 + r^d)^2$ $a_1^2 + Nd a_1 + r^d = a_1^2 + 2r^d a_1 + r^{2d}$ $Nd a_1 = r^d$ $a_1 = \frac{r^d}{Nd}$ $d = \frac{a_1}{10}$	5
$\frac{r^d}{a_1 + d}, \frac{r^d}{a_1 + r^d}, \frac{r^d}{a_1 + Nd}$ $(a_1 + d)(a_1 + Nd) = (a_1 + r^d)^2$ $a_1^2 + Nd a_1 + r^d = a_1^2 + 2r^d a_1 + r^{2d}$ $r^d a_1 = r^{2d}$ $r a_1 = r^d \quad a_1 \neq d \quad \boxed{a_1 = d - \frac{1}{\varepsilon}}$	$\frac{1}{r}, 1, r \quad \boxed{q = r}$ $q, q^q = \frac{1}{r} r^q = r^{\frac{1}{r}}$ 1, 1, 100
$r a_1, r a_1, a_1$ $r a_1, q \quad r a_1, q^q \quad a_1, q^q$ $r a_1 q + a_1 q^q = r a_1 q^q$ $r + q^q = r q$ $q^q - r q + r = 0 \rightarrow (q-1)(q-r) = 0$	1, 1, 100 $q=1 \rightarrow \bar{0} \bar{0}$ $q=r \rightarrow \bar{0} \bar{0} \bar{\varepsilon}$
$\frac{\Lambda}{\varepsilon}, \frac{V}{\varepsilon}, \frac{q}{\varepsilon}, \left(\frac{\omega}{\varepsilon}\right)$ $a_1 = \frac{\Lambda}{\varepsilon} + V\left(-\frac{1}{\varepsilon}\right)$ $a_{1^q} = \frac{\Lambda}{\varepsilon} + V\left(-\frac{1}{\varepsilon}\right)$ $\left(\frac{\omega}{\varepsilon} + x\right)\left(\frac{\varepsilon}{\varepsilon} + x\right) = \left(\frac{1}{\varepsilon} + x\right)^q$ $\frac{r_0}{1^q} + \frac{\omega}{r^q} x - \frac{\varepsilon}{\varepsilon} x + x^q = \frac{1}{1^q} + x + \frac{r_0}{r^q} x$	$\frac{\omega}{\varepsilon} - \frac{r_0}{\varepsilon}, \frac{1}{\varepsilon} - \frac{r_0}{\varepsilon}, -\frac{\varepsilon}{\varepsilon} - \frac{r_0}{\varepsilon}$ $\frac{-1^q}{\varepsilon}, \frac{-r_0}{\varepsilon}, \frac{-r_0}{\varepsilon}$ $x \frac{\omega}{\varepsilon}, x \frac{\omega}{\varepsilon}$ $q = \frac{\omega}{\varepsilon}$ $\frac{r_0}{1^q} + \frac{\omega}{r^q} x - \frac{\varepsilon}{\varepsilon} x + x^q = \frac{1}{1^q} + x + \frac{r_0}{r^q} x$ $\frac{r_0}{1^q} + \frac{\omega}{r^q} x - \frac{\varepsilon}{\varepsilon} x + x^q = \frac{1}{1^q} + x + \frac{r_0}{r^q} x$ $\frac{r_0}{1^q} + \frac{\omega}{r^q} x - \frac{\varepsilon}{\varepsilon} x + x^q = \frac{1}{1^q} + x + \frac{r_0}{r^q} x$
$-a_1 + a_1 q^r + a_1 q^q = V r^q$ $a_1 + r^q a_1 + r^q a_1 = V r^q$ $a_1 + r^q a_1 + r^q a_1 = V r^q$ $(r^q - 1) \times \Lambda = (r^q - 1) \times \Lambda$ $(r^q - 1) \times \Lambda = (r^q - 1) \times \Lambda$ $r^q = \Lambda \rightarrow r = r$	$a_1 + d = \Lambda \quad \boxed{d = V}$ $a_1 + qd = r^q$ $d = r^q$ $\boxed{a_1 = 1}$ 1, 1, 100

$q=1 \rightarrow r a = r^q \rightarrow a = \frac{r^q}{r}$
 $a q^r - a = d$
 $\frac{r^q}{r} - r^q = d \rightarrow d = 0$